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No * = o4 FAERBEAE AN BEMRBE BN HEINSVOZER A/ BON)
) 2TEESE [FIESRIES 2T R 2T [FIESRES
x [fL g = X 1,352 1,348 390 388 3.5 3.5
2 8 B AN K 1,324 1,314 39 39 33.9 33.7
3 A IE 2 T K 1,140 1,155 70 68 16.3 17.0
4 4 R N 594 586 70 61 8.5 9.6
G T N 835 834 76 79 11.0 10.6
6% |7 #k tr & K 972 979 87 93 11.2 10.5
*EH /R N K 1,324 1,339 34 38 38.9 35.2
8 '+ F B K 2,181 2,179 204 203 10.7 10.7
9k |H b PN 1,947 1,969 132 136 14.8 14.5
0x 8k M| B’ K 1,819 1,814 214 216 8.5 8.4
11% CEE EE- PN 946 922 74 74 12.8 12.5
12« Kk H A £ X 323 227 55 54 5.9 4.2
3l # R B K 432 415 53 53 8.2 7.8
4%k R F K 88 41 22 22 4.0 1.9
o fg B E K 1,278 1,253 667 639 1.9 2.0
16% |23 JER X 1,219 1,228 111 107 11.0 11.5
17 8 W & O X 767 749 103 103 7.4 7.3
8B B & K 1,021 1,024 58 56 17.6 18.3
19 8 B f@# B X 504 504 70 71 7.2 7.1
2% B M & K 4,145 4,173 103 97 40.2 43.0
21%x[A T K 1,305 1,281 71 69 18.4 18.6
2% B £ B K 1,739 1,716 161 163 10.8 10.5
23 | % R E XK 732 738 85 80 8.6 9.2
24% i k4 PN 9,263 9,304 689 689 13.4 13.5
26% pE H BT K 228 246 28 34 8.1 7.2
26 fH Zx I R 48 K 1,038 1,015 102 102 10.2 10.0
2T f e T K 4,889 4,855 711 688 6.9 7.1
2% ¥ ¥ K K 412 403 53 51 7.8 7.9
2% ¥ ¥ OB’ K 1,090 1,058 78 80 14.0 13.2
30x K& [ ¥ B K 908 841 46 45 19.7 18.7
3tk A OHE K 1,175 1,185 106 111 11.1 10.7
32k B K 3,344 3,318 92 83 36.3 40.0
BE B F X 371 376 62 59 6.0 6.4
34k [E |l PN 1,199 1,192 108 109 11.1 10.9
35k I PN 396 404 54 52 7.3 7.8
36k [ I [FPN 579 593 67 67 3.6 8.9
3Tk W £ K 726 730 64 63 11.3 11.6
Rl . A PN 1,764 1,752 167 163 10.6 10.7
39x . B KK 112 57 24 18 4.7 3.2
40 I B F K 358 359 55 51 6.5 7.0
41 [T # = Bt K 52 57 19 19 2.7 3.0
42 [ B3 X 818 830 71 70 11.5 11.9
43 [ [ B K 2,937 2,890 261 254 11.3 11.4
44% F W 3E K 1,449 1,438 87 86 16.7 16.7
45% & B K 3,502 3,539 220 216 15.9 16.4
46% % Al 5= K 959 991 87 88 11.0 11.3
atx 4 R K 4,471 4,376 527 507 8.5 8.6
48% — #H K K 435 426 49 48 8.9 8.9
49% B/ /B K 2,820 2,788 203 206 13.9 13.5
50% 5 H#F HF K 2,115 2,133 149 153 14.2 13.9
51x | pt  # = X 1,307 1,307 440 433 3.0 3.0
52% |50 #B i 3% K 1,044 1,063 96 97 10.9 11.0
53k |k PR FF K 7,794 7,931 664 686 11.7 11.6
AP N PN 8,325 8,298 718 721 11.6 11.5
A A - N 6,607 6,682 532 535 12.4 12.5
56k [f 5 i A K 2,285 2,273 89 87 25.7 26.1
57 4 5 i B K 464 468 63 61 7.4 7.7
58% 7% =S N 1,202 1,155 364 355 3.3 3.3
59% | 7% BB’ K 654 654 32 29 20.4 22.6
60 1 gk 1 [E K 1,139 1,116 355 350 3.2 3.2
6lx 2 . B HL BR K 1,220 1,144 54 57 22.6 20.1
62 ) MR B’ K 1,352 1,289 97 86 13.9 15.0
63 ] I B’ K 1,849 1,874 164 170 11.3 11.0
64x ¥ K N K 272 259 31 28 8.8 9.3
65% L 7 Jh B K 2,654 2,636 240 246 11.1 10.7
66% Jin ki K 2,081 2,085 199 190 10.5 11.0
67¢ 2 B K 1,353 1,355 61 62 22.2 21.9
68 [l 1l i X 1,059 1,043 55 55 19.3 19.0
69% (LI 5] PN 1,386 1,393 109 110 12.7 12.7
0kl F B i X 2,192 2,116 66 64 33.2 33.1
[EEENEE NN 387 392 53 51 7.3 7.7
Tox | W PR OK 407 380 56 57 7.3 6.7
(R - T N 1,233 1,263 125 120 9.9 10.5
T4x | o T B K 2,404 2,346 154 158 15.6 14.8
75% L AN 771 752 124 124 6.2 6.1
76% | & [i] K 1,076 1,035 89 93 12.1 11.1
T7x [t i PN 1,081 1,079 105 103 10.3 10.5
78x b Ju N K 6,553 6,561 264 263 24.8 24.9
9% K W B’ K 3,049 3,084 134 138 22.8 22.3
80x BE A B K 2,223 2,230 96 94 23.2 23.7
81|k 4 F B K 394 397 52 53 7.6 7.5
82w K FH K 435 433 54 57 8.1 7.6
83k |’ A K 924 925 32 34 28.9 27.2
84 | M X K 521 522 77 74 6.8 7.1
85 i M FH K 386 387 46 45 8.4 8.6
86% 4 [ PN 2,085 2,095 100 100 20.9 21.0

o 145,565 144,966 13,118 13,007
¥ 1,693 1,686 153 151 11.1 11.1
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